a1 11 & qden, 2021-22
[M-2913-B]

CHEMISTRY

G4 A

(Hindi & English Version)

[Total No. of Pnnted Pages 08|

Total No. of Questions: 18]
[ [I.h;-rr.um Marks 70)
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All questions are compuisory. Each question carries 5 marks.

Oues. No. 1 1o 4 are objective types questions, carry lotal 20 marks.
(W) Ques. No. 5 1o 7 each question carries 2 marks (word limit 30 words)
(iv) Ques. No. 8 o 10 each question carries 3 marks (word limit 75 words)
(v) Ques. No. 1110 15 each question carries 4 marks (word limit 120 words)
(vi) Ques. No. 16 to 18 sach question carries 5§ marks (word limit 150 words)
(vii) Internal choice Is given in every question from question No. 5 to 18.
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U1 HE) Qe 1 T R (sx1=8)
(3) T o W g3 Colta s THT] ?Iﬂﬁjmcﬂ L E NSO

(n CeH,. ()] CiHe2
(i GoH. i K
(@) g1 AR d A fdAE s (R AT BTer g
1) Al () Al
() Q'™ (wv) A
(F) s R J pH A B R
‘1 74 (i) 10
(i) 68 (iv) 12
(@) CHICl & Frd=1 &1 FHIT HEARn & -
(i) sp () sp°
(iii) sp* (iv) sp’d
(8) US4 37 wEW A 2 -
(i) CrH2n (1) CaHzr.2
(ii5) CnHan (iv) CaHzn.2

Choose the correct answer -
(a) Formula of Benzene is CeHs . its emperical formula will be -

(i) CeHir (i Gk
(i) CzH: (iv) CH
(b) Which ol the lollowing have smaller size (atomic radii)?
(i) Al it Al
(iii) AP (iv) AP°
(c) pH value of Human blood is -
(i) 7.4 (i) 10
(i) 6.8 (iv) 12
(d) Hybndizea stale of carbon in CH;Cl s -
(i) sp () sp?
(iii) sp’ (iv) sp*d
(e) The general formula of Alkane is -
(i) CnHzn (i) GCuHm.z
(iii) CnHan (iv) CnHan2 ) - B
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uz (e el Ay gl artaey - (5%1=5)

(%) swmfyn aren o S|oinan DR XA LA L Al 1A
@ weined@de@rtawmamn . {123/012)
() ay F=nafz=r gra . . SR ) B TUC a1 I
(arfen 50 A 7 getidy
(B) MA TR T YA . e 8 (D0 / HAO)
() & ang . e e e MR B (8T / p-wdhE)
Fillin the blanks
(a) S| unit ol thermodynamic wmperatma S . R——
(Kuhnn J Fmanhmt)
(b) in=3 thenvalueol I"willbe .....c..cceermerennnes (1.2,%/0,1,2)
(c) By Bomb calorimeler wWe Measure .........cccoceeremamemrensenrannes.
(internal enafg v | enthalpy)
(d) Formula of heavy waler ig .......cooveearirivrnionncn D0 / H0)
(e) Alkali metalic related o ...........coccvvneernens (s-block / p-block)
w3 W s gy —- (5%1=5)
a -
(i) Y& A @ Al (a) @i 2
(i) 49 I T JPIR (b) @i i3
(iii) wEifEw T g S (C) 555
(iv) s -@i& (d) 20
(v) p =i (e) Li
Match the columns-
(A) (B)
(i) Molality of pure water (a) group 2

(i) Molar mass of heavy water (b) group 13
(i) Highest hydration energy  (c) 55.5

(iv) s - Block (d) 20
(v) p- Block (e) - Li
W4 0P AR/ a@a IR - ‘ (5x1=5)

(i) @ 3w & ofem S
(i) T aR T LA IS T 0@, UF I feAian)
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(V) T 3 torgm @ v w5 T

(V) IS 3 oy 9 & TEORE = T |

Answer in one word sentence -

(' Define moie traction.

(W Wnte the example each of Lewis base and Lews acid.

(M)  Wnte the number of sigma (o) and pi () bonds present in
CH: = CH; molecule.

(V) Write the general tormula of Alkene and Alkyne.

(v} Write the chemical tormula of iodotorm and acetic acid.
TIS & SuTTE wge T

Wnte Paul Exclusion principle.
Jua/0R
PR 7 FRERE I IARTYE e AR

Wite electronic configuration of Neon and Phosphorus.
It 13 A ST = @ A AR

Write the names of elements present in Group - 13

Jyar/OR
yaEE B o g |
Define catenation.
rpuicirr ik aliccu e ice il
Define Benzonoid.
A

qe-2-§1 & Fwuy 2 oy Sufefn wemeh @

Draw Cis and Trans geometrical isomers of But-2-ene.
A aeHe 5 o & '
What is limiting reagent.

@)

@)

@)
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RIS AT PF R0 T (DD At B/

(1) GCHs () NH, () NaCl
Calculate the molar mass of the following-
() CH, (1) NH, (m) NaCl
A R EAE AR B U TR B (U B TS L B e (3)

State Hund's rule with example.
ey /OR

wal wath 8 N4 oside batagu

Wnie three dilferences belween orbit and orbital.
210 wngfaa sad fyum tadan ) sty wrad mifessn a R @l @ smad #2 (3)

Wnie Modern Periodic law. In modern periodic table how many groups
and penods are there?

year/OR
at 17 & N snad A ufrr qm w1 oam g maE §aaste s

featequ |
Write the name, atomic number and electronic conliguration of element

present in third period in group 17.
10 TE a8 gutea Aen @ nfas ma ety o wEE @ oRR 22 ()

( HHATSA,
Why are the physical and chemical properties of elements present in

same group are similar? Explain.
Jyar/OR

§—@ll& 7 p—ailh & T A UR AR fafao |
Write four differences between s — block and p - block elements.
912 Nfad yFm g wragen & A 9R sfver fafao 7))
Write any four characteristics of a physical process in equilibrium.
@t /OR
Ae3 ot apa v ana g ofem Semsw g wwegd awn Wyt
YA~ HE I F e Py |
State Bronsted Lowry acid and base concept with example and also
clarify conjugate acid and base pair.
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RIS 1 o spronfaan & am udts n 3 gufiem gAdt, et gt
#) Twean Lan
Write the 1sctopes of Hydrogen, their name. symbo! and also write
number of elecirons, protons. and neutrons present in n.

yua/OR
Fe A g @ g aen & am apm 2/

What are the reasons of temporary and permaneni hardness
o1 T U anrha gar urn A1 g P fagan T AT -
() s gAazifae fa-urs
(il) HWYBIM HITq
(i) MFTZS B UER
(iv) ergsmargs @ Rdae
Compare the alkali metals and alkaline earth metals on the following
points -
(i) General electronic configuration
(i) Owidation state
(i) Types of oxide
(iv) Solubility of Hydroxide
Jua/OR
Fq &A1 f A4 (FEw vamtvs whmn fafan) -
() F=nfim & g@ 4 FAW AT 2|
(i) AZas U] & TF ] IA AN R
What happens when (write only chemical equation) -

() Magnesium is burnt in air
(i) Sodium is added in water

=t afafisman & 9o #3 -
Complete the foliowing reactions -
ﬁ) CH3 o c L CH > Bf - Bf—-—- seiasesans

of water?

W SOt -y i

anT 873 K
(i) CHZB' _cuzgf + KOH ____..:*i wadl L AR

fa)

4)

. T S s — —
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dua/ OR
ST B /N TF D AR 42 e )
Explain the structure of Ethyne on the basis of Hybridization.
916 P @ yfhg fafae - (s)
O B&@ (i) 3z fem (i) Rafma [Aem
V) M () s fom
Define the lollowing -
() System () Closed system  (iii) Isolated system

(v} Entropy (v) Adiabatic system

= @ ofmn fafan - 08
() 3RS Feq

() z&3 Sep

Define the following -

() Internal energy and
(i) Heat of combustion
17 @ uwIsE @ wwwn g i A Fifka A e (@7 o) s)
Write the inherent differences between Diamond and Graphite on the
basis of structure and properties. (Any five)
duai/OR
PR JAZY ~
(i) APIEE I Fed 9 4 7 & @)
(i) g T A cyfafam B arg & v e 2
Give reasons -
(i) Graphite is used as dry lubricant.
(i) Aluminium alloy is used for making aeroplanes.
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Uig  INAttET 6 IUPAC -im fatare - (5)
() CHCly
0
) |
(i) CH3 —_C — CH3
(M) CH;3; CH;CH,CH,

CIH3
(V) CH, — (i:__ OH
CH,
(v) CH:J_ CH . ('iJH —-CHZ—- CH?_— {i':H -—CHR—-CH3
OH CH,
Write the IUPAC name of the following -
() CHCh

I
(i) CH3 —_C — CH3
() CH3CH;CH:CH;
CH:3

|
(iv) CH3 — (|: — OH

CH3

(v) CH:!— CHZ— (.I7H —CHz— CH,— C|}H -----'CH2—CH3

OH CH:3

auar/OR
Rfte e A FEd 7 399 IR &1 TS |
What is inductive effect? Explain its types.
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